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&l}vL.,I;Zu»aufuﬁbigr:&vﬁdlr 4380 -wéfg—: DusCBA @leﬁlgédlrﬁ Adiy
ss? Uh,«!j!uf Tk §L /. /;f s /':f Ustomlietl ~Z2s A c'_-cél_;//l.fu'b:nb" 1
D C B A Questions / =iy A
:b’nu];b?)'uglﬁ 100kg 45’Ji(g
1600 N 1000 N 160 N 100N Weight of 100kg body on the surface of 1
the Moon will be:
e Pl SEE Sk
2W=0 2P=0 23=0 > F=0 | Mathematical form of first condition of 2
equilibrium is:
& | x| o " e bl P L Latiy
- . ¥ What is highly desirghle when climbing
Friction Speed Velocity Power up 2 hill? (O B
‘ P - B
S
\Y% F a S P, A\ O 4
equal to:
X
b fe 2 YNy (ﬁ Eeaelas | s
Distance Time Power Disp, Identify the vector quantity:
= = 3 . =
1 1 @) :c;_dnujib’ :/jg,(@u.{h}c‘-(“idua..ndwlrk
I sec 1000 SEC 100 m ON10 sec Least count of commonly used digital stop 6
3y watch is: |
13 F ) 5.5 )2 e b7 JEnit ] g |
Convection | Conductio diation “gg}ﬁg;‘gg‘ In gases, heat is mainly transferred by: I
96.8°F 98.6°F 94.6°F 9.86°F zf""‘"]””{r}'_du"'m 8
Normal human body temperature is:
4200 Jkg 'K | 4200 JkgK | 4200 Jkg 'K | 4200 Jk; = 14"—/!‘;:«/0&5& 9
£ 8 £ ek The specific heat of water is:
INm? INm INm! INm* s (S W2 S AT o
$.1. Unit of pressure (Pascal) is equal to:
L mv? 1 mv mv? mv ol _ :‘?'8”4'/-&/"“@‘% 11
2 2 Kinetic energy is equal to:
Pyl 3m ST £ 20N
1207 60 301 61 S| 12
A body of weighing 20N is lifted 3m

vertically upward, its P.E. will be:
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Write short answers to any FIVE parts.
: _§4fdfl:);,é:r/{)4\}:&ﬁ5(,(urhﬂl @)
Write any two rules which are helpful in identifying significant figures.
Define screw gauge and its pitch. B SaE S (D
-EUx gt (ng) r1./5£04 0.00003g i (MHZ) 2 1€ /3500000000 Hz uz./du:«ay{;é (iii)
Convert 3500000000 Hz into MHz and 0.00003g into (ug) by using prefixes.
Why Newton’s first Law of Motion is known as Law of Inertia? ‘.':;_Hh( Ul e Kyiluﬁﬁ'&;ﬁf‘rﬁ-ff (iv)
Define force and its SI unit. “FE ISy SLIEgimgs (V)
Define the Atwood machine and write its one use. e L gE oy P S e (Vi)
?“‘_)l/,l(fcCS’WJ/WJ}:B{//}U?J&"L}{‘;(Vii)
What is meant by gravitational field and gravitational field strength?
e dnud, ,"&;qulﬁ;rnbﬂlﬂﬂﬁcuﬁ{&wyd 52 (viii)
What is the distance of geostationary satellite from the Earth? Why it also has zero speed?
Write short answers to any FIVE parts.
Define random motion with two examples. -g:”iv Uy /';J Jrr.iz/ )
Draw the graph of constant speed. CIOSL ey Gi)
Write use of LIDAR gun? @@ &5 LIDAR (i)

Show that atmosphere exerts pressure. A OB 2, g et (iv)
- -‘,-. 800g U AL ¢l 200cm®  (v)
A stone of mass 800g has a volume 200cm?, find its densi ‘
L@ mLw__.)j,uz_ifgnédg_frwfgfug vi)
Describe that when the objects float on water an nk into it?
Write names of four faces of Leslie’s cube.

» ~a‘fﬂ:£u}’/(ﬁfv:f&2 (vii)

Write two uses of conductor. <&l o1, L i)

Write short answers to any F
Define center of mass. A ) )
d neutral equilibrium. -’a‘.ﬂ})uﬁﬁ/d:ﬁd}:ﬁ»u_,‘:rg 'h)

-G PSS by GiD
-qu,wlil(mmé._yﬁgfdz Gv)
What is Einstein mass-energy equation and write value of *c”, _&f=.d{ cm‘;.&n@_f .-,bI/J./;!-JLJL‘fJT )
How can you find the efficiency of a system? sl S r}"d: ,Ju’.( d loff"’ u’( (vi)
What is meant by clinical thermometer? Also write its range. A EE S Sl e My /;J_,::K (vii)
-0 sy By 21y B i)
~g,,_'!/."; 09 £Jlr/;-gfg/“/“c;glﬁ[_olﬂr»c..(jf-ﬁ”/

Part - I, Attempt any TWO questions. Each question carries 09 marks.

Differentiate between
Define resolution 3
Define Joule and write its formula,

Differentiate between melting point and freezing point.

?ujéffﬁc&igfﬂf&gfdJ}C)g/?T () .5

How can you relate a force with the change of momentum of a body?
- AL Ule 0.006673N Ui 5o WLty bl Im Lt L ()

The gravitational force between two identical lead spheres kept at 1m apart is 0.006673N.
Find their masses.

-éfﬁlobl/d/»d’».‘yric_uJJI/{?V—&;’ () .6

Prove second equation of motion with the help of speed-time graph.

?b’nb"f(;fl:(.i/.dbé;/,,é_mdgﬂbg ()

What would be the volume of ice formed by freezing of 1litre of water?

Define kinetic energy and derive its equation. -é’smuu;%}@u»:é_@ PG 38 () 7

..”ér‘}"”;f/!fm;i_m,g,cﬂ/l _q.gﬁJfff)f{,/':..-’/',,UUL]Ocm ;&JJ}JJZ 100 ()
A force of 100N is applied perpendicularly on a spanner at a distance of 10cm from a nut.
Find the torque produced by the force.
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12:/J/ e 15 iy 5472
Jfﬂv[..,lzyuc.ufwjbé’é.)&v‘ﬁdlr 44602 -wéé,; D s CB A :«Qli;f@&‘)lr 7| Ay
K w,«l.ﬂu:( S-NY L)’/'/ s /'l( Usimlic Ll o A e S A2 71 S 1
l D C B A Questions / =l A
‘ Jeths” %7 (ols Ul PR o |
J' Lel\i/gtll%fa Area Volume Mass A measuring cylinder is used to measure: |
70 kmh" | SO kmh™' | 100 kinh! 200 kmh-" edntedoon|
The speed of Falcon is:
w= Fx/ w=Fd w=F.s w=mg f;.ﬂmli(é./p‘"u}; 3
Formula to find /vy(egg)\{ is:
UK Sy L6 S P | it oSy | oIy iiw et S S, A ]
Lawof ' Third Law | Second Law | First Law of Redke %@n' ‘
Gravitation | of Motion of Motion Motion W )
\ Qe JRites of equilibrium are:
; 3} ; e OnSb WS 60/ L St
100N kg 10 N kg 20 N kg The value of gravitational field strength 6
near the surface of the Earth is:
[ Jz X ¥ <>\j i PRV I
| Joule | Meter Sec Newton | The unit of energy is:
— | N e d i
756 watt | 750 watt att 740 watt ie-Urslc (1hp) AL} g
One horse power (1hp) is equal to:
| :‘ct’ﬁkﬁﬂghfff’ﬁléjﬂ‘g
| 100130 Pa | 103100 Pa 110300 Pa 101300 Pa | At sea level the atmospheric pressure is 9
about:
1000°C | 8000°C 600°C 6000°C it el Sbur| g
The temperature of the Sun surface is:
: :c".(?'ﬁ.ﬁ:(Jl,:ij/')u!/!fu:&.cql,uﬁ
300 200 100 180 The interval between lower and upper 1
fixed point in Fahrenheit scale is:
ooy Py g 2 e bG8 3R] |,
Volume  |Temperature Area Pressure | Kinetic energy of a body depends upon:
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i (Part-1 : i)
Write short answers to any FIVE parts. -J.,w/"” Z:'lilékc.df )
2y u)(J(J/;;/:lJU:’/b(u:KJ )

Write formula of least count and calculate least count of Vernier calipers.

What is accuracy of measurement of a meter rule? S 1 A ke Ui (i)
Express 1m? into liter. SRV 1w GiD
On which principle rocket moves? Se b SeSred LM Gv)
Describe Newton’s first Law of Motion. kST U (V)
Why sliding friction is much greater than rolling friction? Gruful.iu(c,ff)juuy)f" (vi)
How the value of “g” varies with altitude? rJ,v L)/JI/LUAJJ“ » (vii)
Define field force. ’ -c‘_’:..a/ /}JJJ;JJ"(VHD
Write short answers to any FIVE parts. -Ju“i/y L;l?létc&f

STrEE | u”u’r'/g/ “frc’l,ubf/

Where lies the axis? in circular motion OR in rotatory motion "
il L ens S, {@ ) ISEMF S G

Define gravitational acceleration. Write its value for a free fallmg body.

e el S p e S L e 318m R KLIE L (Gid)
Radius of a circular track is 318m. Find the distance covere nd of thls circular track.
What is plasma? Where does it exist in nature? @ ?(gt'k_t,gul[ 202088 st el (i)

ten g wbiud Sen e S W)
Bt 2 dirans Fdr D oo st A (i
Why does a piece of stone sink in water byt ‘@ with huge weight floats?
& Sedriindigl fE L en 7t AU IIEEU# (vid)
How does the rate of flow of heat ith the length of solid?. .
sud’ -wi—lgn;ﬁi/@%afyﬁf',?ujz_knr/’?ﬂ.’uw: L st 2 (viii)
Deserts soon get hot duri ay and soon get cold after s‘u-nset. Why?
Werite short answers to any FIVE parts. _J..«Ui/‘" d:pl]létc,a:( A
m.ﬂ_uéutwv@éiju‘( /uﬁ/,;_(ufd;{.a 6)
What arrangements are made to keep a vehicle in stable equnhbhum”
Define like parallel forces. Give an example of such forces: w.’::dvvﬁt,(//!&t C{J/J//]JJ‘/‘:JU (i
-4"_7‘_;uu&[.;fr#./nuw&//iul S Fy s Fe S LF AL Gid
A force F has perpendicular components Fy and Fy. Write the equations to find its magnitude and direction.
Define work. On what factors does it depend? “a/d’lfur A /‘J_f» Giv)
Y }Vo/ E1%lUt-et/ s uwylwa_uo&w,ufédmwfso,JVJ )

A cyclist does 12 Joules of useful work while pedaling his bike from every 80 Joules of food energy
which he takes. Find his % efficiency.

What are solar panels? Write their uses. -éx, /? e Lt gl Ly (vi)
_EGIEF g JLIE £ i

Differentiate between lower and upper fixed points of a temperature scale.

What is meant by internal energy of a body? Tl /lfc&)&f ﬁld’()' J((viii)

Define tensile strain. Why it has no unit?
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Part - II, Attempt any TWO questions. Each question carries 09 marks.
State and prove Newton’s Second Law of Motion. eSSl (G S
e A g ek 36000 ki &8 et ()
Calculate the value of “g” at a height of 36000 km above the surface of the Earth.
-éf)él:«l;l/d/uu(w&rc—uJJ!/KB’-&;’ () -6
Derive the second equation of motion with the help of speed-time graph. .
-“ér)”u’mmﬁruia/ﬁflg, 8mx5mx4m - 1.3kgm™ sl ()
The density of air in 1.3kgm™. Find the mass of air in a room measuring 8mx5mx4m.
Explain the volumetric thermal expansion. -;;fyu,J UL u.‘.'(:ii; ) 7
-érPJUUIJLﬂ’%LJ’ -90"//“?}!4/‘54}"5&100m G—JIJJ}’JJ): 100 (u) '.

A force of 100N is applied perpendicularly on a spanner at a distance of 10cm from a nut.
Find the torque produced by the force.
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1

o &

s -b’mr"w..,Lr’:uﬁu:aJr'JLf,i/b“ﬂLwaﬂmL}:—ug iy

T |||

D C ~owo |7 B A Questions / o Ul JPA’
odrilog | VbR gdt:f&ff Lb/ﬁﬂ;i"{eit e sVl b fuiifi=| 1
nsulate the A hinira eep the roo ower the heig] . e . A
céifing 9001 the room S, of ceiling False ceiling is done to:
- s P - - = -
Jlf"v,_._. i Sl q ,.;;Vil(&l, ] =72 ?»:,‘.C'/(/'l?[u{u;-‘fb']b’j/ 2
All these < Air u{htcg;?g % | Temperature | Which affects evaporation?
13m 14m 15m 1m e U2 SR Spti| 3
. A mercury barometer tube length is:
. . =
3kgm > lkgm™3 1.3kgm™3 2kgm™3 _ e Hdin| 4
Density of air is:
?J(‘n/_ﬁl} ;,étgxu'}g ‘aggmlfj) 9674}‘;‘ sl u@dKJJ l?z_gmuﬁ:u“ U:J()'u’yi 5
Become four . If the velocity of a body hecomes double, then its
Become half times Become double | Remain constant |kinetic energy will: (¢

() %\@

o8
. éfrf“7~bVGUk-><é--—-----------%{@
O

)

w % -2- Objective Paper Code 5473
D C B A Questions / = Ul e
JFH JA3 JAIF A S QLA GG eS| 6
Electric cell Photocell | Electri generator | _Electric bulb | Which one converts light imto electrical energy? |
® s o |
6x10%%m 6.4x10%m 6.4%108km 6.4%10%m . 1 'AL/"/"‘)&}’JKU:J 7
Radius of the Earth is:
0.404 0503 0.203 = 2 G-bnglends | g
tan45° =2
o o ey % S O IS L et $onr A8 9
o Newtons first law of motion is valid only inthe |
{ Momentum Friction Net force Force absence of: i
Py 7 7 -
Iz i du i e Jedesbus | 10
Torque Force Length Velocity Which quantity is an example of scalar quantity?
Jr o (¥ oS el Sele gty 1
. Amount of a substance in terms of numbers is
Mole Newton Kilogram Gram measured in:
104 108 102 10 =# 1
Kilo=?
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(Part-1
Write short answers to any FIVE parts.
Write the use of physical balance.
Define screw gauge.
What is meant by scientific notation?

Define scalars and give two examples.

Write second equation of motion for body moving under gravity.

Define centripetal force. Give its formula.

What is meant by isolated system?

Write SI unit of force and define it.

Write short answers to any FIVE parts.
Define like parallel forces and give an example.
Define torque and write its SI unit.

Why the height of vehicles is kept as low as possible?
What is meant by force of gravitation?

Define gravitational field strength.

Why the communication satellites are stationed at geostationary orbit?

Define kinetic energy and write its equation.

How the solar panels are formed? Write the uses of solar panels.

Write short answers to any FIVE parts.
Write principle of floatation.

State Hook's law.

What is meant by elastic limit?

Differentiate between heat and temperatur

Define specific heat capacity.

What is meant by convection cu

Why does land breeze blow in the night?

What is the reason of glider to fly in air?

N
@@

Jil4daa )
ezl e 8
YN )
i8S G
S e SILE (i)
-é:uﬁ}&uulg - /‘U/J)IC (iv)
& al;Vd/:JJJr_AL()‘LxL/:J/];I{JLL‘f,g_’/ (v)
& Sk LSS SR i)
Sl e AT (i)
L& A sy S16 L (viii)
2L g 3
&L s Aty ()
Sy st gt S i)
‘e Qe o Ews e ndugsé i
Ve o 82518 (v
2SS, W
s NS T e T
et s FS 6 (vid)
WA St i bl A e (viii)
I STy /T TP 1
-EokdrKi )
~ZLkuIFEL (i)
el e e Al (i)
~ZE LIPS (V)
E IS ()
?‘ch/g;._‘r'/d:{f (vi)
Se Goud L libu (i)
‘.‘c‘.g_,rb/@u:méﬁ_m’ (viii)

e bl

S

A 09 Lvg < feltnlcttrne (Y epdyd dsaa
Part - II, Attempt any TWO questions. Each question carries 09 marks.
-éﬁ':ﬂ;l/d/i!&?cu({d'/?hl}; ()]

Derive the third equation of motion with the help of speed-time graph.

eI 20N L L Sigd w2088 2L AT (L)

How much time is required to change 22NS momentum by a force of 20N?

?unéé,: u}c}{d)}fﬁd"ﬁs{ﬂ"gﬁiug ()]

Determine a force when its perpendicular components are given.

AR AT AL SRR S _‘attfc,u"u,d/ 20ms™ = e 500g SUE AL (&)

A stone of mass 500g strikes the ground with a velocity of 20ms~!. How much is the kinetic

energy of the stone at the time it strikes the ground?
ol I LU iy St b ()

Explain the impact of green house effect in global warming? ,
~etlsslold 1mm S U & €us? 10000N 45,/1‘)’%;'/ 5x107m? ZASLE 2 1 (L)
-éf(:bifﬂ}fﬁﬁnff

A steel wire 1m long and cross-sectional area 5x]105m? is stretched through 1mm by a force of
10000N. Find the Young's modulus of the wire.
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;g&&/gl.:c}b;h"ﬁWﬁy&ﬂ:)au:w/'béé_:&lzﬁdby;{qb’dl!. -ugéz,_.:n »#C B rA»:«Lb”.:E&ﬁJ’r/; /{Ul,v
Gl Nzt eSS KL S P nslie ki - {
i D C 'f\) A Questions / w= Uy B
7[5 . P
3800 38000 3800000 \ggéﬁ e L= fisl) 1
| Mo3n 1§1 nearly kilometer away from the Earth.
o . B Qs K 30° AL /Q-xw}v_ﬁwz 10! 2
: N R A force:df 10N is making an angle of 30° :b’n&;{&’ 1
with the Horizéntal. Tts horizontal component will be:
5 hat ? <0 LS
¢t g Ut o v g e AT 3
Velocity ﬁss Net force Force Inertia depénds upon:
* : 3 g Ly ! e O sty 4
Distance Displacement Velocity Speed A change in position is called:
Ji¥ 5& dt f 1% vl et lg'.é%.l:i%b,,w 5
Level of liquid Volume Area Mass A measuring cylinder is usel@t ure:
u'OOOI cm 0.001 cm 0.01 cm 0.1 cm :i"'b”‘l"jg‘*’*'!g%’ 6
Least count of w@et@alliper is:
(i) 0@&
& ;
4 % % X &8 Objective Paper Code 5478
D C B A Questions / = Uy /L’/‘.ﬂ
1 Fiszs | Pt [P :,g,,@%rz,tgzrfa/c_dtﬂ"’f&/‘iu’f 7
Conve]ctlon Radiation only w“r‘;zci:g:na“d Conduction only |Rooms are heated using gas heaters by:
only
373 274 273 - 723 TK =T°C + 8
, S bl eSS 2 SEEL Lo b ok dy] 9
11m 25m 1m 0.5m ‘What should be the approximate length of a glass tube
to construct a water barometer? 5
D T
el J2 _{J [t | 10
11200 Pa 10409 Ep 104100 8 o _?a " | At sea level the atmospheric pressure is about:
) . Ay s PL:J’L;U%’J() -'V'Jwiﬁ 1
WAIAE Pt HUL?.' B0 If the direction of motion of thefiglrc%g-z peépendlcruéar
. : irection of the motion of the body then wo
None of these Zero Minimum Maximum gz) rtllle v:'iillrlelge:on 0 ]
; :q;_.-:l;i/t,{ﬂ&f W12
2 -
E= % E=mc E=m’ Rems Mass-Energy equation is:
© 916-IX123-75000
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( Part-1 J34zaa )

Write short answers to any FIVE parts. -é::«&b’t/ﬂd:rlz lé&a.‘;f
Define least count of screw gauge. Also give its value. & 0’@2 L,(J lulg - iJ&ib’ML{;fg; @)
Differentiate between sound and light. -é J/u:f Gﬁwﬂ)b" (ii)
Define base units. Also give two examples. -é u’:ugl‘mwfé_.y /."dlf.‘;_'d:y (iii)
What is LIDAR? Also write its use. &A1 S S LIDAR  (iv)
Write the methods to represent a vector. -é Zi. )&/QIL/‘-‘; )

E LS e 100 LEE 126G (i)

A sprinter completes its 100m race in 12s. Find its average speed.

State Newton's third law of motion. -_é Wb LA (vii)
Write two advantages of friction. ~£Il}»£gf9 (viii)
Write short answers to any FIVE parts. -é@k&/ﬂﬁplziégcéf
Define power and write its SI unit. & 2y SIEULISE f‘i&l& (i)
When is a body said to be in equilibrium? fe by e ﬁ /Jd)g l_.f ()3:( (ii)

State the principle of moments. SIS Y  Gi)
What is meant by gravitational field strength? ﬁ@g@;}wﬂgﬁ@f (iv)
What are artificial satellites? Write their uses. -5@ B S VW ()
WEBC U Do 6K R (vi)

S etbey S1 L (vii)
Define gravitational potential energy and write its equation. abl/d/u' U:l.é 7 /:"d/ d}lﬁﬁd;’f (viii)
Write short answers to any FIVE parts. %5 -4"!@&'3}&»’2 ! &;-Jf
State Pascal's law. @ -g,i: - /-’.d/ UIeL Jﬁ )]
What is meant by elasticity? @ el e U i)
© ~E It i
-..é - fTJJ)“.{‘:—/’/ (iv)

fe Jn 4 4 s vfﬂu‘(-g )]

State Newton's law of gravitation and write its mathematical equation. -
Write SI unit of work and define this unit. O%

State Archimedes principle.
Define specific heat capacity.
How is cooling produced by ev.

What is difference between conduction and convection? ?‘L J/l;’/gﬂ uigr':ﬂf 8 (vi)
What is transfer of heat? Write its modes. -Z‘.’f 2 )5;1 f ?q_:l/g;.:;«/l]gﬂi’l (vii)
What is the difference between land breeze and sea breeze? S SV f-(-j:'d/.ﬁ-J (viii)

-uj/.} 09 Z.Jlr/: -é{}a@'ﬁéaﬂlr;;c,éf gl 4o
Part - II, Attempt any TWO questions. Each question carries 09 marks.
Explain relation between force and momentum. -_‘4{ ug;ﬂj’ /a (‘fmlw} ()
LS L & S Loi2100 o (N1 c,/"ugivéﬁ)fgui 0.5ms2 oot /gl (&)
¢t kmh™!

A train starts from rest with an acceleration of (0 5ms=. Find its speed in kmh™', when it has
moved through 100m.

Ul UL LT e ys” St 2 ST (L)
What is meant by center of gravity? Where is the center of gravity of the uniform square?
(8=10ms™?) BB ASES - VIBIESAS 3m L e E 50 ()
A body of mass 50kg is raised to a height of 3m. What is its potential energy? (g =10ms™2)
G LA PSS I Nl i PSPy ()
Define evaporation. How various factors affect the rate of evaporation?
-Ee 2 b nlge i3S 20N Iy - 10mm LSS U dube St ()

The head of a pin is a square of side 10mm. Find the pressure on it due to a force of 20N.
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bzl femm§E SNk eIl gi -y

A
1

D C B A Questions / o Uy Ve
6x10%kg |  6x1026kg 6x10%kg 6x1022kg AL
Mass of the Earth is:,
S 2 o ) 2K
wh gh wm wg @ : =(PE)J/ ’k}#‘é 2
Potential er@ E)=:
O — *» .
A: ax Rx2 leﬁ O@ B=__ ufW&u!G'LL}/’& 3
f 4 | According to Pascal's law, F, =
140°F 133°F 122°F 10 5}%%5 ' ‘-4l 50°C| 4
2, 50°C is equal to:
o PR
98.6°C 37°C gxggc e BN UL s
= Normal human body temperature is:
4 WA ﬁ /92 , :.QJ?‘J’W@A} 6
Copper Tron i t'Wa@r
J_)J(duf( rx.'b iy | ;Jlok[(:‘"cuﬂf&’g; 7
Level of a liquid Volume Area Mass A measuring cylinder is used to measure:
# # Jr o ey | 8
Second Meter Mole Newton Which is a derived unit?
3 r = :Jn&;JerU‘»q‘PA g S A it | 9
~10ms H0ms 0 Ims A ball thrown vertically upward, its velocity at the
highest point is:
my? my my my? e ) S| 10
r ! r r? Centripetal force () is equal to:
0.866 0.707 0.6 0.5 _ -=dd cos6o°| 11
Value of Cos60° is:
. 5
Sw=0 SF=0 Tm=0 T1=0 e b AFSEASE 12

The first condition of equilibrium is:

13-1X122-85000
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Write short answers to any FIVE parts. -é@&l.?/‘.?é:d? |

Define mechanics. -Z’: 3 /‘U/ (1)
Why do we need to measure extremely small intervals of time? L d/u)f ..,/;/‘J L—L/U)"!Jb dwé_»,u" (ii)
Express these numbers in scientific notation: (a) 0.0000548s  (b) 6400000m J o f !MV:( el (iii)
Differentiate between distance and displacement. -é: (‘: I;u/u.‘.’ &J’—J‘J sikel  (iv)

E e §U - S mERI0 12 EE W)

A sprinter completes its 100 meter race in 12s. Find its average speed.

Define force and write its SI unit. -é.zi SI KU l/:lé - /"'JJJ! (vi)
When a gun is fired, it recoils. Why? "u/ -& dbrﬁ?fé’,:‘gdb(jlbdurbf fe2  (vii)
What is friction? °:.U’u'§ (viii)
Write short answers to any FIVE parts. -J-.%QL?/‘?J:'V lg/l«c.(jf

04.u"’ufu'uycz_/éJréuxmuybéu’dyf G)

What is the relation between law of gravitation and Newton's third law of motion?

Write two uses of artificial satellites. -é e Ub';’!»c':u“"/l}i“ U= (i)
Give the reason why gravitational force is very weak? -é uL«.;:J L;’J’/Lw;’g);y d:‘f (iii)
Write two uses of wind energy. /fuﬂb’l»é&/u: @iv)
What is meant by the efficiency of a system? Q@a:lﬂfc— O’; d‘ ld/("/ u’( W)
Differentiate between stable and unstable equilibrium. u/u*f - Jik kB Auzkel (Vi)

F S dnenfUSs 8 mSEASE (vib

rst condition of equilibrium?

.~. "Q

S d./}' b K}
Why there is a need of second condition of equilibrium if a body @ t

Write two disadvantages of fossil fuels. -af//.,cw»a:ﬂy’ J7? (viii)
Write short answers to any FIVE parts. %S -Jakwﬂéd? létc.éf
Give the name of fourth state of matter and define it.@ -Z: J/"JJ lulért&)b&&:t 6]
What is a barometer? % o, fe UKae (i)
State Hook's law. Py _SEULuIE (i)
Differentiate between heat and te ure. oy RN f;/;?ul:ul} (iv)
Define evaporation. - _ \ ,-J - /""JJﬂ»;-gl )
What causes a glider to remain in air? "al/.)'? 2ef (i)
Define transfer of heat. _c‘.'f - {‘JVAIJM (vii)
Write the use of convection currents. ..Zf/ fdlﬂ"l(u" fuf / (viii)

..u‘/ 09 Ld‘f/ -é/iy“f&um)’»ad}( «(..U.:m
Part - II, Attempt any TWO questions. Each question carries 09 marks.

S=Vit +—a1t2 oS S Zesa§ IS Sttt Pt £ 78l (DN
Draw speed-time graph for the motion of a body. Using this graph derive second equaiton of

motion: S= Vt-’r ; atz

¢SS A AFL L iVt § 3ms™ S L Rhs S0em SFLAPF 05 ()

How much centripetal force is requrred to make a body of mass 0.5kg to move in a circle of radius
50cm with a speed of 3ms™!

Define kinetic energy and derive its equation. -Zf Bl blads wzf ¥ /’d/ & /!u@d( ()
S b s e S SON —e-16cm (2E6US B7.79 (IR ®)

The steering of a car has a radius 16cm Find the torque produced by a couple of 50N.

P S SR S RLF (N

What is thermometer? Also write the characteristics of liquid used in thermometer.
G bl g e 3§ 20N 3T 41 e 10mm LSS~ Uil Qo ()

The head of a pin is a square of a side 10mm. Find the pressure on it due to a force of 20N.

13-1X122-85000
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c:-uﬂxgl.:c}bwaI&"Lvlz://:c_du:ﬂ;ifé:&bédlrﬁ{qI(Qb? -ujéﬁ{_)D »# C B rAaLb’.;ﬁdelr/;

A
1

_ﬁuraw\,al!.uﬁgﬁwu‘d’é_fﬂ.bb’ LL&,{J,}!’»&J‘_..Q -y |

D C B A Questions / = Uy Y
9 7 6 3 C‘—”“’.’.JUAZU’?U: SIt 1
The number of base units in Sl is:
. &
miZs ms~t ms—2 ms ‘Lu‘/'z SI Kd{)(g‘ 2
Which is S1 unit of acceleration?
i g, & N cdubindty)
= | R T e
Distance Displacement Velocity Speed A changg in‘position is called:
S Ji Jfer v < Q@(,) ?4_4/5&7.! K| 4
R -
Velocity Mass Net force Force . 4 ﬁ&a depends upon:
NN
. &
2G=0 IN=0 =0 z a’ "LJ’/U'/”J#/U!{ s
Second condition of equilibrium is:
5 . % i -S>
8000ms™! 800ms™! 8ms~! @ _ Ay J‘—)_, B J‘{’ L L&l 6
N Zero The orbital speed of a low orbit satellite is:

Iy Y - 7 &
J.)JJ’Q..&;L,: J}UQ:C G d/u.,@';}b/ 4—6111’/(5/"»?&}3%{6”5 7
Elastic potential | Mechanical Potentiaf ener et : \ . ) ‘

2y netic energy | Energy stored in the stretched bow is called:
energy energy -
é;(,(d:) J‘{JU);Q' ;:“.’J(;()J ,}‘;{.’J}ﬂ/ e "e" U:@"VL;}’JLJV/JT 8
3
SPCE‘;:I’}i the Speed of electron| Speed of light | Speed of sound |In Einstein's mass energy equation "c" is:
N~ Nm? Nm™2 N ey SIERY | 9
SI unit of stress is:
cUPLif | el | eUrlugdl | e udsldy e Fedp i BeE | 10
Principle of , Archimed® ¢ |/ g w et ” T )
floataion Hook's law principl Yq Igm % De:il‘t?" of a substance can be calculated by:
% B2 [ T v 7 ( "j ;rl
3a - ' ,(‘ P g.uu (.Aﬁd') lf&; u’-'.'()leb kEdF 11
p= 2 f=Ja B= 3 =3 The ceefficients of linear and volume expansion
haverelation:
Y a7, a5, & N -
%! o s ISk ‘e )KMIIQW:(!;.U,# 12
Absorption Convection Conduction Radiation In solids, heat is transferred by:

14-1X122-75000
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(Part-1  Jjlaza) RO 4223
Write short answers to any FIVE parts. : -é@&lz/:?éd?. lé}c_.df
- MWL eI E P §10385 5 e 3 )

Write any two factors on which accuracy in measuring a physical quantity depends.

Differentiate between positive and negative acceleration. -é’g J/u:ﬁ)’glﬁgmzﬁ/g (ii)
Define derived units. Give names of any two derived units. -éftéu’" QJ}L:):_JJ/ -g?': 4/-;01}5 ;{3} Lo (iii)
State Newton's first law of motion. ) -5’:.: ko u,;(&r(&::‘ (iv)
Define least count of a vernier callipers. _.é - /‘."d/_*/i Vet @870 (v)
Define uniform velocity. -5{._43/‘.’.0/0" Usps2y  (vi)
Differentiate between kinematics and dynamics. -g‘f uyJ};ﬂJ{lﬂbﬂu’@d‘, ¥ (vii)
Define momentum. Write its SI unit. &L SLE -.éh—é’/.{!ﬁ?" (viii)
Write short answers to any FIVE parts. -égylzﬁ'&fméggdf
What is meant by center of mass and center of gravity? S‘;_,:I/Lfc, é: ,ﬂfd"/’:’}ﬂd L.JT/";’ @)
What is meant by trigonometric ratios? ' ?§.)!/lfc.uﬁ"';f%i£) (i)
Differentiate between torque and couple. -g‘:; (‘: bJ/.U: J;‘::bﬁtf (iii)
What is meant by geostationary orbit? @ ‘.’r‘_;f/y/:_.:/,/!'d ,i*.”z,’ (iv)
Differentiate between artificial satellite and natural satellite. @%’;J}uﬁ &S 1R Ju?ul..‘f’ Wl (v)
What is meant by field force? o {&%O Se sty Ve uudtl  (vi)
Define potential energy and describe its two types. N\ ~E e UindUingt o S, ALY (i)
Define efficiency and power. %5@ -é - ﬂ&;g»lu'?&'l (viii)
Write short answers to any FIVE parts. @ -z-_’.-,ymf'?&wég¢éf
What is meant by pressure? Write its SI unit. . <HYSIEU! ‘-"a)‘/lfc. ﬂ{ (i)
Define Pascal's law. © . -é-.( 7 /""Juﬂﬁ'ﬁf Lo(iD)
Differentiate between ships and submari . -gf;ugg}/'ufq/'»ﬂ:lib‘zdf- (iii)
What is the internal energy of a b >y € ?c‘_:l/gc'.(f./'hf}"(!()'u_ﬂ (iv)

Change 300K on Kelvin scale into Célsius scale qf-tempe\rature." 4 -gf_: gz A,r"u:g}:c JQA";%/;’ 300K 4;}:5 u:‘.{( )

Why are metals good conductors of heat? ’;‘ o g ) 1 ?@Lxuﬁ/ﬂéléajv)’f (vi)
What is meant by convection current? N ?q.)l/\:r;dfuf‘{f (vii)
What is green house effect? fe bﬁlf&?‘-ldﬂ,u: J (viii)

U 09 Ll g Felinl e e §f RPN
Part - 11, Attempt any TWO questions. Each question carries 09 marks.
| o1
Prove that: S= Vit +7at2 S= Vit +5at2 .'éb"/;e (Jl)
vJﬂQJJ/ijJ::J/zVJC“LLLL{C—%KJ 3ms™! ufé.//béu:'é/ 50cm f()‘[_u’tﬂ/;KO.S (s./)

How much centripetal force is required to make a body of mass 0.5kg to move in a circle of radius
50cm with a speed of 3mg~!.

Explain two conditions of equilibrium. _s;fyu;gfﬁﬁuim!ﬁ/d:{l'(.ﬂl)
- PN - Pt e e F 105 EGS S 16m, J 70kg g kT ()

Calculate the power of a pump which can lift 70kg of water through a vertical height of 16m in

10s. Also find power in horse power.
‘-"aJ(uC)L/ufJ_/?)L”' § "5({(2’0’; -éuggjf‘(dgf’/l ()
State Archimedes principle. How it is helpful to find the density of an object?

koG lenrd LLNHY < 2000 RS QUK 25z il (L)

A container has 2.5 liters of water at 20°C. How much heat is required to boil the water?
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<2

‘3

-4

-5

-6

oy



4 w— Y

-0

e

A

PAGEIAY
WOW

hr u)// (

.
2

st .
U"‘?/"y)gf/'/

12 /'/L){

Code

2215 2 PO lope 1)S5477
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cﬁ&ﬁtﬁﬂ:ﬁh"dlbfﬁy'j!uuc..du;}bé{_)&V&J'ﬁ:{dﬁ}w _u_x‘éé__}i) # C B tA&&'ﬁ;f@kd:dl}’ﬁ /.J‘LJ”’
-(Mjljwa.g'ﬁulgtﬂ@JfJL/i/nb(LL/JU!}’)BJLJLJ Sty AR
C B A Questions / = Uiy e
Q Oxi Q 2 e LAl ez 1
' N L ! Rate of flow of heat is:
Al S ORI oY Tq_."y)l(:/ziidbfjlufrlzlj;; 5
7 Absorption Conduction Radiation Convection | In solids heat is transferred by:
| Lall=aAT) | TyeAL) Lo(l+aAT) | Tyl +wAL) , t= (L)L AU |3
|_m_ N Linear thermal expansion in solids (L) =:
mgh pgv? pgv pgh = 2O h| 4
o o o Liquid pressure at depth h =:
@) . . .-.:‘
mgh mZgh mv2 %mv2 @ - =(P.E) J‘"M 5
Potential energy (Pﬁm
764 W 746 W 647 W 674 W © e alank Al 6
I horse péaser | al to:
[ : ; N AR SR P, T
Vo :ng Vo = ng vo =gR V0:\/~ER : @i/f#@;&/‘gu WL‘JL[@/&%/'&VT_ 7
“Qumuba to find the orbital speed of a low orbit satellite is:
o “o ‘ T
1 3 2 1 <o o s s
A A Conditions of equilibrium are:
~N L &
F;RZ K KR @—é- ezl (1) M&”(KJ; 9
) R : Coefficient of friction () is equal ta:
Y
N s
kgms2 kgms_2 kg%é“}3 kgms“I \ :‘L“": Sl E’/ﬁ/’/ 10
S1 unit of momentum is:
s ‘f)'&' st Jt ig-zlzv/;gjib(::’ﬁnlu"'m 11
 Force Acceleration | Displacement Mass The product of velocity and time is equal to:
Mole Newton Kilogram Gram Amount of substance is measured in:
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(Part-T J3l 4aa )
Write shott answers to any FIVE parts. ngv"c" -ér:.Uﬁ/‘?éf"].’égc..éf
Define base and derived quantities. ,éh_él/‘-’vu;/!ﬂjftuld)y (1)
What is meant by Vernier constant? ?9)ygé,¢»bfj£;; (i)
What is the difference between rest and motion? T‘LJ)l!u:c;f/;’M/ (iii)
Define acceleration and write its formula. ‘&’_JU)"/UKJU:@{@/"J&)’“CI (iv)
Write two characteristics of physical quantities. _,*;:{;ayr"‘;JJu:/’ﬁ'Jfb (v)
What is the law of inertia? S L:(UJG'{L”/‘)' (vi)
Define force and write its §1 unit. ~E ey SUKUEE i S i)
IHow can vector quantities be represented graphically? e ng}wc_:‘/a‘?}/;fuuw}é (viii)
Write short answers to any FIVE parts. <& :;Lb’;’Z.n/'é&:;Jf
Define torque. Write its mathematical formula. -é{ﬁ]f;ﬁdb(dbﬂé@ﬁ({ét‘ (i)
State and explain Principle of Moments. ..éf@ L-bmlé:r»..é_l/‘"&)/'&: LI‘?/ (ii)
Define rigid body and axis of rotation. -_{!..g/Uu%qu-desg}p (iii)
What is gravitational constant? Write its value in SI unit. -’QE&EJJU.'.'L,F:/.‘-"(:—/ ?r_.)r/gfc_:d#}fff’dg// (iv)
On what factors orbital speed of satellite depends? Yo &n/’y{_u; 7 ;/Z.uf/J-‘/’ LPi"u’f v)

61 Sl Ve R ()

S A Sl e, (i)

What is meant by density? Write its formula. < {&% -.’L’FJ)'/UKJI ‘.’c‘_Jl/Lfr_ L:f'!)' (viii)

Write short answers to any FIVE parts. @% <& o&&ﬁ&d'ﬂé&;&f

Define pressure and write its SI unit. %5 ~&zy 81 (J’JJ‘é':bé’/Uﬁ{ (i)
@ ,

Differentiate between stress and strain. _g,fgu&/'u:q/‘muf; (ii)

Define efficiency. Also write its formula.

What is meant by the term power? Define 1 watt.

What is Hooke's law? What is meant by elastic limj ?@ ?g.)l/l;(c.duﬁw,’ ?‘c,gujﬁ'tﬁf (iii)
Define the terms heat and temperature. «_i.:.él/p(obu%f(,(j-@’a;lc,ﬂi (iv)

E e SR s )
ce’in gases? ‘.'bnuifzj)fdil(uyﬁfuf,'-:r (vi)

Yo (Pl e ey (vil)
Write two uses of convection currents. -;Z:/{/s:« Ulr‘:“!uégf“fui{)f (viii)

Ui 09 L L& feindl e ome (S epigs duan
Part - I1, Attempt any TWO questions. Each question carries 09 marks.

-é]&labl/d/»JJia.uJJi/?Lé{ (3

Derive the second equation of motion with the help of speed-time graph:
Wenlustnitl e b3S 200N s FEIL d0kg L E e S e H AL 3ms? ()

?{—u;f JJ:"JJ’?

A cyclist of mass 40kg exerts a force of 200N to move his bicycle with an acceleration of 3mg2.
How much is the force of friction between the road and the tyres?

Define kinetic energy and derive its equation. <§{l}lobl/b(u’l/)’"é‘.y/)‘d/&ﬂu@d( ()
. &id b i
~E UMK 4AN i 3N FEULULS e Ut sl Al (L)

A picture frame is hanging by two vertical strings. The tensions in the strings are 3.8N and 4.4N.
Find the weight of the picture frame.

Define latent heat of vaporization.

Why conduction of heat does not tak

How does heat reach us from the Sun?

=46l (P = pgh) U b6l o bos§ 2y Ut WL (i)

Explain the pressure in liquids and derive its formula (P = pgh) .

-¢ 336000Jkg™ G d b L e S e i SpenSzs0000 (L)
How much ice will melt by 50000) of heat? Latent heat of fusion of ice = 336000Jkg™!. '

13-IX121-90000 /ﬁ
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c.Q‘L/CL)C/")JU’JWév'ﬁc—»wc,g}fu;/'bé{,:&l/&d'f/;{(éb’dlﬁ ..u_?"-fc:_JD 2 C B :Aa&lﬁ;ﬁkédlrﬁ /Ul,r
..lfnu‘?l-k’yb'fuﬂuf .-:‘//JL/Z):L( LLIJU:/’D»LJ:.;{I L3y SN
D C B A Questions / o Yl A
Jr o LK S ek Sedongii |
. The amount of a substance in terms of numbers is
Mole Newton Kilogram Gram measured:
AP AR ce §1 S T o § 36k ALl 2
30ms™! 25ms™! 20ms™! [Oms™! A train is moving at a speed of 36kmh~! . Its speed
i - o L expressed in ms! '
f‘ Ns™! Ns kgms™2 Nm -g--.‘/'g_’l(f?f 3
. The unit of momentum is:
P - Qg8 30° AL A1 dfiShito] 4
Bla & #hl A A force of 10N is making an e :(xc»a‘:{
~ B of 307 with x-axis. Its hokizd omponent will be:
:(nub(()'ngIOOk 3 1.6ms 2 _/AEJ g {6’(!}-!57 5
TeuON 1000N TGN 100 The value of don's surface is 1.6ms—2 . What will
be the wei Okg body on the surface of moon?
e e - L.
SOms ™! 25ms ™! 12.5ms™! Sms~! :Jﬂ’t{&ﬂ _4“_.«.Jﬁ25 KE. Jf)~g£ Zkg| ©
- The'lCE of a body of mass 23:g is 25J. Its speed is:
C@) k %4 (s R e
10°Nm 2 102Nm ™2 INm™ 104 Nmg o) i "T-—t"/-'{%}('£vg/"%tfEVZV{U:J/}’K/ T
o A SI unit of pressure is Pascal which is equal to:
: (U be L_/f((é/g,(dt " ?q._t/(;t?‘fu%{:gb'i.lf;[ 8
| Allthese Wind Surfanc;uzil:{ea oF N Yenperature . | Which affects evaporation?
| e SR WK (
L 30 400 3 200 500 ”f JAL WK ¥ | 9
__W\Ng The thermal conductivity of copper in w1k~ :
‘Q;-,JEJU’;_;TM&UZ)L/H[. 5Bzt 10
! 02 0.8 06 The value of coefficient of friction between tyre and dry
B N road is:
e Wi F Y FROEN R
Kelvin Candela Pascal Ampere The derived unit is:
9001kg= 'K~ | 42000ke™ 'K | 21000kg~" K" | 8357kg~ R : , e 12
7 ) The specific heat of sand is: J
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(Pght -1 Jildas )

Write short answers to any FIVE parts. F%‘;,L' -ég@lﬁﬁéplng&ch
Differentiate between base and derived quantities. —é&)@:u!/’ﬁ’i}t/’ld»'? Q)
Define prefixes and give one example. _é)dt»u@,t;f_y/"gfﬂd/, (ii)
Your age is 14 years. Convert your age in seconds. -__éufijfd:;v -c‘-di/ 14/(;;,7 - (i)
What is meant by position? e Jl/l_f’/c;u'é){’ (iv)
What is the difference between distance and displacement? <+J/s[g: .uf’-*/ﬁuu"l'i V)
Define gravitational acceleration and write its value. _éﬂ/dd/wu!s{,y/j‘fﬁfglﬁd{’/ (vi)
Define momentum and write its unit. _éﬂ’_f&gﬂﬂu'{;(.é_//."gf("y/ (vii)
What is meant by coefficient of friction? Also write its symbol. -c’:’gfym,(w ﬂ@ﬂ/&-”@f}d”&?@f/ (viii)
Write short answers to any FIVE parts. -ﬂa_glﬁﬁér'zlégaéf
Differentiate between line of action of force and moment arm. -_éu‘f&)u.l‘/ﬂér'T_“V}’/J‘JJ}JTﬂ’J‘;JU (i)

A e i ISz L Sesl Ve undsiTeny i)
What is meant by moment of force? Also write is it vector or scalar quantity? .
Give an example of a body which is at rest but not in equilibrium. —K.:ufr:/:‘d)gldgﬂdb‘»{/ﬁé)dﬁ/d/ﬁd_—lvg (iii)

Define geostationary orbit. ..g‘;(ufjd_'/ﬁd/“f‘)f (iv)
Write two uses of artificial satellites. & W':)LJ“'{ e (V)
Differentiate between artificial and natural satellites. u’:u""/[}‘ﬁ"J/jA’LfW (vi)
Define cnergy and write its unit. O_’ef&ﬂuwévgf/?&dﬂ (vii)

Write the SI unit of power and also define the unit of power. < {&r 'J/D.J&!.‘L/J_&Jlléu‘/}f SI VJ!& (viii)

Write short answers to any FIVE parts. @ -éogl_z/”'é,w&;c,éf

el e 5T ()

Define the term pressure. @@ _éh#ﬂJchlJf{ (ii)
<&

What is tensile strain? Give its formula. -QU/JGKJ! ?;('_lfu_’/‘JU:‘ (iii)

What is meant by elasticity?

Define heat capacity. ,:é__g/lﬂffb-@»; (iv)
Define the terms heat and temperature. ‘_évé)/‘.’.(}/ob llb"ldlé/_;ufoﬂ/ v)
Define convection, __éJ_:ug{/‘;(,(u:{/ (vi)
Define thermal conductivity. -_éi:b{/)’jd/&{'fb/g)/; (vii)
Define land breeze and sea breeze. _givnydj.ri,ld/_(f' (viii)

_uj‘/ 09 Z:d'r/; qné{fﬂagiﬁf,oﬂlruc.é:{ :r.‘.\}.hu.lu.

Part - I, Attempt any TWO questions. Each question carries 09 marks.

With the help of speed-time graph, prove that: V¢ =Vitat :f{—f;/;l;"c;—u-(f..)'/?t‘%; ()
VJnc,»/Ju’JJ’J’:’d}{JQ.LLVKLJ}rJ 3ms! u:;/’biu'léj 50cm f(j'l.u'l.(l/rg 0.5 (&)

How much centripetal force is needed to make a body of mass 0.5kg to move in a circle of radius
50cm with a speed of 3ms™'?

State and derive law of gravitation. ,gfjéml;éug.u)wﬁdgf (D
I L S e K 30° AL Aixgdd SN (L)
Find the perpendicular components of a force of 50N making an angle of 30° with x-axis.
L labio L= Lo+ 0AT) 2 g eobonicf g AL A S AUt Lo (L)
Deﬁnpand explain lincar thermal expansion in solids. Also derive L =L, (1+0AT) equaliqn.
S _.;,u_m,swmmmu:d,quc;é_@w}10000N4;U”"‘?m/ 5x10-m? ZAS L ST (L)
' _5;5()"’1/};5/75-%(:
A steel wire Im long and cross-sectional area 5x107°m? is stretched through lmm by a force of
10000N. Find the Young's modulus of the wire.
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B ]
l D C B A Questions / =iy Vel
| 9.8ms2 8.87ms=2 3.73ms2 274.2ms-2 _ il g | 1
[ . | The value of g’ on sun is:
i 3 o s b b -yt F
| etunlog | F ”’f":’c‘* ‘ir} s S W IR (S SSVPR b REASE 2P| 2
is situated at its l:e :&sltt‘;-helg“lt\t ilf is at the lowest | is at the highest |A body is in neutral equilibrium when its center of "
bottom disﬁlaée q position -, bosition gravity: |
fped & . P 5 [, 5
| Iy ,5;&{77-& LE ds_ N S {1 U?J}LL’J@.!/@U’*U”éIJK lif-}(lﬁgf ' 3
’ Fine marble Which materi te Qs uf';}
Air powder Water 0il lowers fg’{cti hen pushed between metal plates?
. b, b \ .
o Jz2 e Ve o @ et 4
Newton Joule Second Meter :Tjéunit of force is:
4, [y o .z 4 4 - %) - s
ks PG S s BN QWA SIS | s
Random motion | Vibratory motion | Rotatory motion | Circul n | The motion of body about an axis is called: !
)t e 7
l 0.001mm lmm 0.0lmm wmm 't""""""‘ré; 6
N The least count of screw gauge is:
EAG Ly S ¢ S | b bepud e $2beir| 7
| Fiber glass Plastic PN Wood For quick heat transfer sauce pan are made of:
r A &, ,, - B - 1
u{ldé/ u{/ W/ :';(};a 54——,—.’(-"-‘1’7JW‘/»£J¢}J. 8
Radiation Convection Conduction "::)’:ﬁ:i':::' J' In gases heat is mainly transferred by: I
{ 2 V. 9
L 0K -273K 32°F 0°F Setecrdeg A0 9
Water freczes at:
103Nm-2 102Nm-2 I Nm-2 104Nm-2 =. b L] 10 |
One Pascal is equal to: ]
. [ . 7 - . t* . - < - j
Sy Gade | gy Gk e QWG AdnE bl u:()-_/;“;( 1
Kinetic energy | Nuclear energy | Potential energy | Chemical energy | The energy due to motion of body is called:
GAGH | GAKL b G e dmddit | 1 |
Kinetic energy | Chemical energy |  Heat energy Nuclear energy | The energy stored in coal is:
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( Part-1 Jil4daa )
Werite short answers to any FIVE parts. -é@“f.;&r’?.'&&ﬂ—éf
What is least count of vernier callipers? How it is measured? fe Jlquff _i_;JJ { ‘-"a:'/lfc,cz‘?b’w:’ﬁi ,55’( Zn o ()

Write 6000km and 3800km in standard form. <8232 3800km ol 6000km (i)
Differentiate between nuclear physics and atomic physics. -_4{ LISl ‘/;'..f Hulg,’c)f.’;:' (iii)
Define rotatory motion and give one example. -é:Jb.ﬁ;;léquer s (iv)
Convert 36kmh ™ into ms~!. -_4‘;)_' £t ms™1 S 36kmh ™! v)

et B e gd (v
998&:!{{){9;5;;&'5‘}?‘9&/»&u;){L':L/:JIILU? (vi)
Why does oiling the moving parts of a machine lowers friction?

When a gun is fired, it recoils. Why? U - QWIS T Jbdie GriLiv (vii)
Write short answers to any FIVE parts. -zJ.;wz/‘?an 'éyc.(jf
Define couple and give its example. & Jedu Il .g/:‘&x’ (i)
Why the height of vehicles is kept as low as possible? ?q-JL_va:u:[ H:Evdﬁ Jt{'ﬂJu,g} ¥ (i)
S ASCEWS sy S G
Why does the value of 'g' vary from place to place? fe Jﬂu:[ J.’{u:z‘;_ic":pf J ‘g (iv)
What is the difference between artificial and natural satellites? ?.c AU u“‘lui“ J/;’/J‘Jf"‘ )
-'é’rv‘% ARG iy
Define Joule and Watt. -5‘&’4/‘7&_‘,150"):2 (vii)

-E I B st 49@:&’ 15ms=! A L6/ 500 (viii)

A stone of 500g is thrown up with a velocity of 15ms~!. Find its kineti

Why is it dangerous to travel on the roof of a bus?

Define field force and gravitational field strength.

Define mechanical energy and write its types.

Write short answers to any FIVE parts. @ -é.-,;w”z:.lz'égc.df
Define pressure. What is the unit of pressure in SI system? %5 & 2 U WS -g{..é’i«,(ﬁ{ (i)
State Pascal's law. Y b’f& (i)
Differentiate between strain and tensile strain. & C %Y, 945 /'Ju!mq (i)
Define specific heat capacity and write its math I@form‘ -é ﬁ,}v&/ U.o'g’;f - /Ug}f ?’JJIJJ:"" (iv)

-E e fSeF s W

e Yebussr ) (i)

EGETIF i

- EWOP LS EMSAE (i)
-u_?/ 09 LJivr -é{fo@'ﬁéalﬂr»c&}( pdyd Aias

Part - II, Attempt any TWO questions. Each question carries 09 marks.

Write four methods of reducing friction. "] & )’/‘lfﬁd./ﬁgf‘;’ ()

Il 2L E S Lelk100 -4_6/5,;%;»5&2)/5& 0.5ms2? e Moot il (L)
?Jﬂl_fuﬁ kmh-!

A train starts from rest with an acceleration of 0.5ms-2. Find its speed in kmh-! when it has

moved through 100m. ]
e WA R SIAL A 1™ -2 FS 5Py ()
Define resolution of force. How can a force be resolved into its perpendicular components?
~E RN - Pl St e DG 10s Kk 16m S04 Tokg gdi (L)
Calculate the power of a pump which can lift 70kg of water through a vertical height of 16m in
10s. Also find the power in horse power.

- MY PSPty P oS 8 Sel e Fapgt ()
What is meant by evaporation? Explain any three factors on which rate of evaporation depends.
G2 b AL 1 sem? & LEFL 1 o bIEEVOIS 1N & A bducdl (L)
A student presses his palm by his thumb with a force of 7SN. What would be the pressure under
his thumb having contact area | 5om?2.

13-1X119-82000

Define latent heat of vaporization,
What is green house effect?
Define thermal conductivity.
Differentiate between land and sea breezes.
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D C B '. A Questions / = Uy KA
1m? ldm? lem? I— 1 mm? e bz L] 1
1 liter is equal to:
.b""h /J& el i Y‘L,O'Z’A;'/"{) 2
Displacement Power Distance Which is a vector quantity?
LA 7 U N 2 pieke Lot $avddS | 3
o A \ 4 @ otion is valid only in the
Momentum Friction Net force ! abs
M A ARE enoiseei]
ird law of | Second law o irst Jaw o 6
s motion motion motion /7 ertia is known as:
) e a3 cin300
0.866 0.707 0.5 o@\(}é/ =4 sin30
AN Value of sin30° is:
3 @@p ?+tfd'{;u);£/€v§:/£uﬁug 6
27.1 27.5 274 O\ 273 In how many days moon completes its one G
| revolution around the earth?
3%108ms~! 1x108ms~! ms~! l 2x10%ms™! _ ) & C 40| 1
' N ! The speed of light C is:
‘_ N 1 ; 3
r O N S PSLS S| 8
Momentum Power | Torque Energy Rate of doing work is called: !
I | N H
930kgm™3 920kgm3 910kgm= |  900kgm-3 e 5H0S| 9
B i Density of’ice is:
98.6°C ITF 37°C 15°C et dUISE | 10
— e\ N Normal human body temperature is:
bW, 2 3
0.09Wm-1K-1{ 0.08WmIK~! | 0.07Wm~'K~! | 0.06Wmn-1K-! » el UA iSZY
| i | Thermal conductivity of wood is:
o S| Y L ‘e I MBS IR | 12
| Absorption Convection Conduction Radiation In solids, heat is transferred by: L |
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(Part-1  Jjldaa)

10  Write short answers to any FIVE parts. _guili/’/:-r‘?'&gc.df
Write the formula of least count of screw gauge and write its value. -JJ/:'U:’/W../:I(MLC;; (i)
Define atomic physics and nuclear physics. -g,i: -/ /’(ﬁ/’/‘ﬁl’;ulg/).( b (i)
What is meant by prefixes? Sesl e Ay (i)

~EJ L S e e iy S 32 00 Gv)
Cheetah can run at a speed of 70kmh~'. Change this speed in SI unit.
What is the difference between distance and displacement? u)u’u!.u‘-'l‘uiudzb (v)
Define momentum. [s it vector or scalar? )‘j. :..b( é’: ..d/‘(,(fv ¥ (vi)
Write two differences between weight and mass, ..d.‘f O\ aslis  (vid)
State the law of conservation of momentum. -éuhu]b ﬂ/n/ﬁ(yr (viii)
10  Write short answers to any FIVE parts. ’ i upf;&"?'&k&-‘;/

-4'":0&'c)/U?ﬂé//iJﬁ-(Uuw/z)JjﬁJv (i)

What is the difference between like parallel forces and unlike parallel forces?

Define torque and moment arm. -_é - /.’.Jrﬂ_u//ul.ﬂt (ii)
Define the force of gravitation. .._4: - }7&,#:5;’/_,7&) (iii)
State the law of gravitation. -éel_ﬂy}b'b’ﬁdgf (iv)
What is GPS (Global Positioning System)? St/ (('-';gw__:,._,\):,f ) GPS  (v)
Define work and write its SI unit. -J../:’ SI (»Jlmg.‘; - /-J..C; (vi)

Define kinetic energy and write its mathematical equation. -d’.:,bl/d J @gﬁ&f /".@J( (vii)
Define power and its SI unit, &y Sl J:JU;I/:L (viii)
10  Write short answers to any FIVE parts. J.:«Mi/ﬂ&rlﬂé ;—Jf

Define pressure and write its ST unit. o {& &g <y SI 6 lulé .J/“J/'/ (i)
State Hook's law. @ - ko 6L (i)
Define elasticity. %5 EAE W i

Define specific heat. -5";’4/‘-‘\;.0‘.”:./'] (iv)

Differentiate between temperature and heat. @ & C IJJ)J.:«JIJ/:I,Z:/,} )
What is meant by convection currents in air? ) ‘fc'_:f/l_fr_u; /uﬁ"-’/‘ﬁ It (vi)
Define thermal conductivity. -é _:_'/—U/é:)_'f JJ’J/- (vii)
What is meant by gliding? ‘-'4.:'/9/;_{1?1! (viii)

..uj'ﬁ; 0 J‘f/z -é{fo@'ﬁ&oﬂ'ﬂ:aé:f iy das
Part - I, Attempt any TWO questions. Each question carries 09 marks.
04 et A I sal Sty ()
Derive third equation of motion with the help of speed-time graph.
05 winlusstaSl e tiS 200N A SE LU 40kg .{.L;m}‘*tr.u”)’fﬁ Ims? (L)

e cf(MJJ;

A cyclist of mass 40kg exerts a force of 200N to move his bicycle with.an acceleration of 3ms—2.
How much is the force of friction between the road and the tyres?

04 JJ%IJ)/»U"LJI -c.d/fc.r;b 0 .ufw’lré X-axis « Fdzi_f "a:l/tfc,//i._’ 'Jr’:n (o))
et

What is meant by resolution of forces? A force F is making angle 0 with x-axis. Find the values
of its horizontal and vertical components.

05 -c{r}*o,w'j 1L 1-e-4000NU 3 Qi S qui-e 8/ elie b 220 ams™ a2l (L)
A motor boat moves at a steady speed of 4m¢-1. Water resistance acting on it is 4000N. Calculate
the power of its engine.

04 gl V=V, (14BAT) 2 _gf ool AS U4 Q7 pdly ()
Define and explain the volume thermal expansion. Also derive the equation V=V, (1+ BAT)
05 e bbnil 1mm LS L 6Us3 10000N /L/u)’r’w/ sx10-m? LS L 8K ()
-g{r}VJLL}:-KJ b
A steel wire Im long and cross-sectional area 5x 10-5m? is stretched through 1mm by a force of
10000N. Find the Young's modulus of the wire.

14-1X119-65000
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DS ﬂ.wlb‘éumufmgﬁw/bg{;ﬁhﬁdlrﬁgdﬂém ~BLED i C B Al
ﬁmjﬂ.r!ﬁuﬁu:wu‘fuﬂd_fyﬁ:ﬂmgk;_{ -ﬁ.r/f

)’?J'r |

i__ ] c B A Qnastiuna ! _-U“r }—_;S
| 000y 00y g 0.01¢ | T‘-d"f‘*‘ u M !
T T e S— _‘__h Which is the smallest quantity?
Lol ' LR Wi Ly a'_dﬂ-'(& kufu‘ ~if
| Miume | Diblacemen | Velocity | Speed | Achangein position is called; !
i Al . r)r“ o | 78 ,_,..ﬂrhr, A
Wl A_KIII:'DEMI&}_I L il,ﬁm_:m B |~ B
2 T : wls".,;'mﬁé{ﬁu:bcufr)gu a
. ‘ . | rst law of motion is valid only in the
| ®omentiun r fiction | e ;
- o W =L L. S el S _
| ke ’f’dﬂg f ' 2 df .sﬂ_ﬁ'u"f I.J Tereers fai;ﬁﬁ-—ﬂlulu"?d:h«‘u &
| Meutal | I Two equul but unlike parallel foroes having different |
| equitibrivn | Bguilibrium | 1 |line of action produce: _ o
. | i
| R000ms I BO0ms™ i ) ;.dﬂﬁ";Jb—fJN‘J_r Wéhﬂ’irg ]
b The arbital speed of' s low orbit satellie is: -
| . , .
7 [ l "‘E I wgfgfd‘rﬂ-/fa)d 7
! ;-*-'J.u:l-mcrm_l o l'gv-u . o _|_w —_Ea'!; ﬂi'-dninlv mrk i; cmlled o
[ . ‘ o - : o ; bt N;gjk’ﬂﬁ:&hﬁ'g&”@ff?—ﬁj B
' o \ ] C ¢ Fhie work done will be zero when the angle between
[ + oAb | the force and the distance | AL o
L } - T T T .
I 8 | il ‘ d/r 4 4 ?:.L,‘I“‘_?f{ubﬂf_rtf‘f .
‘I : ad ] Aluniisiom  Mercury +~_¢5p_;xr Which afthe substances is the lightest one?
: T I S
T N A #E IO o Bnped et SRS | 1o
‘! r 5 i : N Which material has large value of temperature
| S [ Bmss 1 Gold Aluminium | coefficient of linear expansion? J.__
| i | ok | 32°F 0°F wuduz-iuf dgg it
. o !_ ) . o Water freezes at which temperature? _
r Ry oy [T .
W -;' ! L‘Plki‘? !\_‘pr"'uﬂ{li_‘pw_rr ¢ J..f {J“LJ‘LI"LF‘}'LI‘;U'L‘*@ML{!! II
LConveeLion {  Radmtion lc‘)'::ﬂ‘“f“?“ ind | l:'unﬂ.uullon Rmms are heated using gas heaters by: i
b - Rl i Rl i 4 ~_ 15,
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Uiffesentiste beiwesn somic pysics and nuclear physics kAL R AP il
Diofine hase and derived guantities, _;ﬂ_gf'{jumjj}uﬂuh.jmﬁ {ii)
Write the farmula bo calculate the least count of SCPEW pauge, ,.é‘u.ﬁlih'i_.ﬁ?ﬂ-‘“;;w.hc\’ ﬁgﬁ' {uii)
Liiffenmbae: berween distance and displacenen. A f T Wralkes  fiv)
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Lisfentisi= helveen Iresking nnd skudidunp. -g:.{JSJ.-JL.l:JlI:uﬂ ﬁ; [wii}
aiae Sgwiear's third low of mirtson amd frve an exangglg, —g;ﬁbhgﬁu'ffdj}l;'ﬁﬂffrﬁiﬁ (i)
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2).bmp

Type: Bitmap Image
size: 0,98 MEB
Dimension: 2480 x 3310 § @ b ol A Ll
G | pixels IVE parts, @gﬁg ..ﬂakﬂirimﬁ.aﬁf

2eline presaure, Write i85 formaula and 51 unis, -ELE{ 51tk n _-ﬁg -—iﬂf;@g LKL

-f'é EU:& ==yl AL il

Skate the principde of Moataisan. © é},ﬁ:’ﬂfh{ (lih
el sivmin anid wrie its uni, -y {,}‘:,;:Eg’mﬂ_,uﬁ:_* ,;LQE & il
inefine ehermameler and wrate its O AT (i
Flefine latent heat af fusion, w&iﬂ‘.‘fh}“udﬁ-j i"£ (v)

r-'& .-L#‘EI fu‘l{ ,_aﬂ&r - e J} _.ﬁ-._g ,:J & ;\jrlr: Ladd v
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au;'f'r 09 L ivg _é;’é';j::,;‘l.gﬂ@u!ﬂigﬁﬁf opd g s,
Part - U, Altempt any TWO questions, Each question carvies 09 marks,

(b ceiine mtion and describe iis three types, ,g{ gﬂﬁlr;il,;f‘fgu-.l#'._g ﬂj;- (it )

s Tl hd 20N L8 Sigd and 2288 AL (L
haw maeh time s rgquired 1o change 2INS momentum by a force of 207

W Deling kinetic enery and derive is equation ,;f L‘rl..-:.!;LsJJ 'snlg;‘.fdhé",ﬁﬁ,rdﬁ-@if {dll]}

0 ,#}ﬁ“‘g’;h‘ Uk il e 1 -%L,F.-fuwl'n’{ ALl tem e A A ol 100 ()

A toree of 100N is applied perpendicularly on & spanner st a distance of 10cm from a it Fined the
argue praduced by the force,

M Baplaln volume thermnl expansion. 7. ,,%L#G:JHH lj.alj'i,ﬁfl!'l (ol
i P i el semt LA AL ,;_ry;ffdu"wgkf 75N ;.gﬁ,;i_r(b!u,_p (o)

Ay studlemt presses his palm by his b with a force of TSN, What would be the preseure under
s Al having contact aren | gum?
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2% % 6% % utldEr | 1|
S NS , The efficiency of solar cell is: 1
o | e ) ) g il AN fed S| 2 |
f o 0 o | The work done will-Bg minimum when angle between !
. — | | force and dmp!y@hs , {I
| S
BG.0 I15.6 14.6 13.6 —QMB-‘ 7 c—d‘kd-ff 3 |l
N —— - m-@_zﬂﬁm_mm wler. 1
I e i % TE)= |, !
L EEE | amw | amse | amee ﬂ@ . (K) —— ! o
B 32°F ~273K e refdy 5 |
| B R | <>S> Water freezes at: _
o £ g @ (e Luﬁi_dnﬁr{;{(.’y Mfr#rf VLA L) 6 |
i , N Raig of flow of heat through conductor is inversely !
im Temperature Lag proportional
— T ‘ ] Physics-8 FBD-G2-(P-
ity 20 020pg 2.0pg , | 1).bmp
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_ ' !
g w7 egm s lkgms lkgms ° ‘?’r‘g“ﬁ [HH‘SYS I W
| T — . 11 Mewton (N} is equal 1o: ¢ o 1
: I T
Coseck Cosl Sind Tan0 [J,&}F éd‘;'h ' I
B Campﬁmdm equmnm\ p%‘ — (Vectors) R
| . . e dnsde ifumiytie| 1 |
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